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Choice Based Credit System VI Semester B.A. (HRD) Degree
Examination, July/August 2023
(2021-22 Batch Onwards)

COST ACCOUNTING
\ Time : 3 Hours Max. Marks : 120
Instructions : 1) Provide working notes wherever necessary.
2) 40 pages answer book will be given. No additional sheets
will be given.

RoesRnsd : 1) eng TS LTIy LEnLO.
2) 40 PuAY I T BT REBETOPT. Bed TIVrITe)

QRETB© rba_jci)@

SECTION - A
RN - D

.

Answer the following. (3x20=60)
éeéﬁsﬁ,\n‘em& QVSB0RD.

1. Explain elements of cost.
ST ©oINTI) DWORD.

OR/egm»
o Describe the material purchasing procedure.
WRONY DD DFITIS), 2TWORD.
2. Explain various methods of remuneration system.
TOLTORS 35:1033 QAT DINTS), DB|ORD.

OR/esgm «#
From the following prepare cost sheet for the month of July, 2023
33 IINTZNPos 20233 w0, 30N [, T, ICIRORD.

Elements (203ns0) Amount ()
Purchase of raw material 2,08,000
RRIAONG 0D
Carriage inwards 2,000
39, 003062 B[ £ ki
o P.T.O.
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Direct wages
JeT 3RO

Sales
WIRTOE
Direct expenses
Se0s23,
Factory rent
Fo0oF O WRN
Office rent
FeIe00D RN
Indirect wages
RHTReE 3RO
Depreciation on furniture
2eBRETFOING 20D NDTY
Factory lighting
FTOFHOD WL
Repairs to factory
FOTOF R0 TOTR
Printing and stationery
00T, 89 TBY SeDT TOTIN,
Office expenses
ge3ed =3
23
Advertisement
Fenl S epIc® o ¥
Samples and free gifts
TRTO TOZY L0 VTBORRTNSD
Travelling expenses
, 030008 3?‘% ned
Carriage outwards
adé-:\ﬁoeze‘ BuE

80,000
8,00,000
20,000
12,000
18,000
6,000
20,000
14,000
8,000
13,000
14,000
15,000
5,500
7,500

2,000

DO OO
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Stock Opening Closing
wEE &STOWT 03T
Raw material 10,000 20,000
LISDEGS

WIP 25,000 15,000
TR0 T o

Finished goods 60,000 35,000
ATTRAT TRIN

. Explain various methods of allocation and apportionment of overheads.

se?_zgdﬁ%f TOUWE Tone 03REBIOD NG WHENFDY, LWOAD.

OR/&g

From the following calculate earnings of each worker under

a) Time rate system

b) Halseys premium plan

c) Rowan’s bonus plan.

B3 FINTJNYOT T8 FOIMTS Slapleseire)
a) TZOo T :)Jm;

b) Todecdd &, e0000 cdnews

C) TRETT* TRT WrReSRt c3rerSol STTRE) ForeED.

Particulars
Q=TINL

A
Standard time (in hours) < 48
T, BN TROCH (Roedn$d))
Actual time taken (in hours) 46
BNTEROT AXTIT RO (MoEdngd)
Wage Rate/hour (}) 250

2933 T8 RoUiR 3)

Employees
emdrasmmb

B cC D
48 48 48

" 44 42 40

300 200 320
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SECTION - B
QRN - W
Answer any six.
CIRR)TOTTR e.-sda'% Spctelite
4. Explain any six methods of costing.

10.

DWE BRTTTR ST LITNFIY, DTORD.

Explain various methods of time booking.
AT ARFIT g mmﬁmq DWORD.

Explain different stock levels.

WG WF magdri%% WIORD.

Explain principles of remuneration.

RouSod 33__71@;32{ QDBORO.

Explain types of cost on the basis of variability.
©ATI0R SRR, Fy WENTRY DFOA0.
Explain different methods of pricing material.
BN B AT 20 sac,saarfemgt WTORD.

Calculate prime cost from the following.
B3 IPNI[RPoT SR 3&%@&3{ eﬁﬁd Tod0.

Opening stock of raw material % 40,000
Saaaw SRONG TR AT

Closing stock of raw material % 20,000
THRIRONG 908 NOF°

Raw materials purchased ™ < 80,000
NRJNY Doed Fog

Carriage inward - % 25,000
52, 0000028 9T IE

Wages paid % 27,000
NeRT 3RO

Direct expenses ¥ 13,000

Jeo ﬁagdmfa pludi

D0 O 0 0O 0

(6x6=36)
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11. From the following calculate earnings of each worker under Taylors
differential piece rate system.
33 FINTRYNC0T &, FOAMOTT STROD[I), ¥ 0TS BT 0N L.ex*Tees®
AT 0BTRONQ, FowILRBOUD.
Standard production : 100 units/day
T,[ReB BT
Normal piece rate : T 15/unit
mmﬁu BO0TO WO
In a day worker A, B and C produced 80, 100 and 120 units respectively.
%000 OFTQ, FOAMT A, B 1525 C 8,30:0N 80, 100 @orie 120 c30Res nosy
YUB DATOTT.
- SECTION -C
NP -
Answer any four questions. (4x3=12)

OIRRYTITITR T, T,J NN YVZRD.

12.

13.

14.

15.

Write any 3 advantages of cost accounting.

R, BT, IBFHHOD CRFYTTTR [ART T, 0dReRINTR, WwI00.

Write a note on EOQ.

EOQ 2w e30e3 w80200.

Mention any 3 items which can Be written under selling and distribution
overhead. :

BRTE W) WITHD Foed¥E ROV, WTH CBRFTTTR BT SERTIY
TRO.

What are the types of idle time ?

RO TRONT AFNTR) ? = o
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16. Mr. Rohith produced 100 units. Piece rate per unit is ¥ 7. Calculate
Mr. Rohith’s earnings under piece rate system.
Bre&e*0mTd 100 ev3S s VT AT, 20T UBZE Te. 7803 &T
AROBOBEONT. BRekES L) NEFOITY LEX° Tees® 2T OBTEODE,
FOT&E020D.

17. Mr. Virat produced 50 units in a day of 8 hours. Time rate per hour is ¥ 120.
Calculate Mr. Virats earnings under time rate system.
QTREF TR 2,00 OFT 8 NotiNgQ 50 3 NPy, YV DA, 1070 OO FORT
gdn. 1200 m@o:omq ANOTRICONT. 03T 2830, ﬁ@%cﬁamﬁ{ TROOIRGOT Je3T
A3 03TRODE, FORELEAR0.

SECTION-D
PR - &
Answer the following. (12x1=12)
83 FINTZNT, YUSORD.
18. Expand FIFO.
FIFOR0, 250A0. "

19. Expand LIFO.
LIFOR) 2% 0RD.

20. What is overhead ?
ee;agd Q0T ?
21. What is overtime ? <
é?ﬁgﬁ@ B030 0TTEID ?
22. What is payroll ?
BB 3,063 DOTTERD ?

23. What is abnormal loss ?

(Pt sTed sa-gd 2OTTeR ? P {
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24. What is variable cost ?
fﬁagpd sﬁzgjeaoz:ﬂd’em ?

25. What is remuneration ?
TOLTRWS N0TTERD ?
26. What is opportunity cost ?
LTI W, D0TTER ?
27. What is job costing ?
3R [, 0BT ?
28. Give one example for factory overhead.

FosTRF 030 oepIE 60T YUITTTR i,

29. If total cost is T 20,000 and profit is 25% of sales. Calculate profit.
uw@ﬁzi 8r-20,000, <2003y BRTET 25% BTY,, TIWII, FOTOHREROWD.




